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4, B, Cand D lie on a circle centre O. AC is a diameter of the circle.
AD, BE and CF are parallel lines. Angle ABE = 48° and angle ACF = 126°.
Find
a) angle DAE,
(@) angle =
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A4, B, Cand D lie on a circle centre O. AC is a diameter of the circle.
AD, BE and CF are parallel lines. Angle ABE = 48° and angle ACF = 126°.

Find
(@) angle DAE,

Answer(a) Angle DAE ol =
(b) angle EBC,

Answer(b) Angle EBC
(¢) angle BAE.

Answer(c) Angle BAE =

16 Solve the inequality

T 0580.y14 sypek & Show il dounloads.





image8.png
¢ - € [[1 papersxtremepapers.com/CIE/Cambridge%20IGCSE/Mathematics%20(0580)/0580_w06_ap_2.pdf

E Sold figures | Free....

@ Auto Parts Warchou.. [E] HistoryontheNet... [ NewTab [ Microsoft Outiook... 4 Hilll Academy SIS [ hitpsy/ims/is not a..

7o =8

‘ B 0580_y14_sy.pf

12
P T

NOTTO
SCALE

oKk

In the diagram PT and QR are parallel. TP and TR are tangents to the circle PORS.
Angle PTR = angle RPQ = 38°.
(@) What s the special name of triangle TPR. Give a reason for your answer.

Answer(a) name |

(®) Calculate

@) angle POR,
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In the diagram PT and QR are parallel. TP and TR are tangents to the circle PORS.
Angle PTR = angle RPQ = 38°.

(@) What s the special name of triangle TPR. Give a reason for your answer.

Answer(a) name |

reason,

(®) Calculate

@) angle POR,

Answer(b)(i) Angle POR = m

(i) angle PSR.

Answer(b)(ii)Angle PSR =

13 A statue two metres high has a volume of five cubic metres.
A similar model of the statue has a height of four centimetres.
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‘The points 4, B, C and D lie on a circle centre O
Angle AOB = 90°, angle COD = 50° and angle BCD = 123°.
‘The line DT'is a tangent to the circle at D.

Find

(@) angle OCD,
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(@) angle OCD,

Answer(a) Angle OCD = m

() angle TDC,

Answer(b) Angle TDC = m

(© angle ABC,

Answer(c) Angle ABC =, m

(@ reflex angle AOC.

Answer(d) Angle AOC = [

] i
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4

ABCDE is a pentagon.

Acircle, centre O, passes through the points 4, C, D and E.

Angle EAC = 36°, angle CAB = 78° and AB is parallel to DC.
(@) Find the values of x, y and z, giving a reason for each.

(®) Explain why ED s not parallel to AC.

(©) Find the value of angle EOC.

@ AB=AC.
Find the value of angle ABC.
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PQRS is a cyclic quadrilateral. The diagonals PR and OS intersect at X.
Angle SPR = 21°, angle PRS = 80° and angle PXQ = 33°.
Calculate:

(@) angle POS,

Answer (a) Angle POS =
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ABCD is a cyclic quadrilateral.
AD is parallel to BC. The diagonals DB and AC meet at X.
Angle ACB = 62° and angle ACD = 20°.

Calculate

() anals DRA
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‘Angle ACB = 62° and angle ACD = 20°.
Calculate

(a) angle DBA,
(b) angle DAB,
(©) angle DAC,
(@) angle AXB,

(e) angle CDB.
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Answer (b) Angle DAB
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16

ABCD is a cyclic quadrilateral.
The tangents at C and D meet at E.
Caleulate the values of p, g and r.
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17 Solve the equation

X2 4+4x-22=0.
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